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019£1F17 0.0 kith 08 238 kwh 4248 44A 019517160 0.0kwh A 61.3kwh 1,7628 -176LR
N19E1EY 0.3kWh 8@ 18.4 kWh %0 7 2019%1A170 0.0 kWh 0A 76.8kih 22068 -2,200 @
N0EFE 24k 108 14.9kWh 1A BT 2019418180 0.0kwh A 63.1kwh 18158 -1814R
NISELRT 04 103 182 ki A B 201918197 3.2kwh %A 17.8 kwh 5118 4168
N1SEIESA P 1547 214 037 00 0194518208 0.9 kWh %8 B.1kWh 5635 6373
e i 9= ek 63 %A 2019518247 0.2kwh 6M 629 kwh 1,808 8 -180LR
ISER o = i e L 019518228 0.4kWh 0A 626 kivh 18007 17898
20194518237 0.0kwh A 79.7 kWh 2817 291R
0191587 0.0 kith 08 57.0kwh 14168 14158
201917248 0.0 kwh R 75.5 kivh 211A 2U1A
ISR 0K R BLe ki 1516F 1SR 019518255 0.0 kih 08 637 kwh 18308 1308
NISEIAL0R e 5 bk 1339A il 2019418260 0.6 kwh 7R 3.7 kwh %87 9517
019518117 2.1 kith 638 4.1 kWh 12688 -1,2058 MISEATE 32kwh 957 53k a3 58
W3R 48 ki 165 15.0kh A ke W1eE15280 0.0kWh 0 596 kih 20027 2002R
013E1A13H 6.0kWh 1798 14.3kWh 408 209 2019515298 0.0 kiwh 08 73.2 kih 21048 2,104 A
01915148 4.5kwh 1358 17.7 kwh 097 mA M1¥E1H308 0.0 kWh R 526 kWh 1511 A 1511 A

013%1A150 0.0 kth 0A £9.4 kiwh 1,996 1 -1,995 0 2019%1A318 0.1kWh A 536 kwh 1,597 -1,335R



